Statistics and Histograms Name: /Aﬂ[&M

Article: Are Americans Shrinking? http://www.digitaljournal.com/article/270441

1) Let’s create a histogram using the heights of students in this class!

Interval

Frequency
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What is a histogram? What are they used for? What is the difference between a histogram and a bar

graph?
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2a) Over the past several years, you have recorded the number of automobiles that a used car dealer in
your town has sold in different price ranges. First, decide whether a histogram or a bar graph is most

appropriate for this situation,

Next, using the given data, construct an appropriate graph of this situation.
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Cumulative Histograms
Zb) We can display the same data in another form, using a cumulative histogram. Use the data from the

last table to fill in this cumulative histogram. QLMMD CQ_QQ Wm \j‘o U\Q.QUK_Q.&'{— %3 )
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3) Coliege students spent the following amounts of money on textbooks for one math class.
$101, $107, $121, $90, $89, $101, $98, $110, $115, $85, $95, $109, $109, $110, $109
a) Complete the charts below showing tally, frequency, and cumulative frequency.
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b} Draw the frequency histogram and the cumulative frequency histogram.
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d) Find the modal interval for the data

e) Find the median interval.



